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1. Write your name, session, roll number, the toplected and the title of the answatearly on
the top.

2. Each of the two topics given in each paper willdmswered asvo essays of not more than
800 words each. There will be negative marking for writing in of the word-limit.

3. Each answer (essay) carries a weightagzdahar ks.

4. Keep a margin of about 1 inch on each side of #yep

5. You can submit the essay written in your own hamiitvg on clean, foolscap sheets, or A-4
sized paper.

6. In case you prefer to submit type-written answerake sure that there are no typing errors
which will deduct from the overall impression.

7. Do not submit commercially purchased answers as ayractice is deemed to be unfair.

8. Please submit your assignment38{' April, 2014.

Paper V: Advanced Microeconomics
1. Define Pareto optimality. Explain the necessarydions required to obtain

Pareto optimality. 2+8=10

2. Explain with the help of suitable diagrams how itgmporal consumption
decisions are taken. What is the effect of changdhe interest rate in
intertemporal decision making? €1a

Paper VI: Macroeconomic Theory-I|
1. Explain Baumal’'s Inventory Approach to Demand foody. How is it

superior to Classical and Keynesian Approach? 7+3=10
2. What is Phillips curve? Explain the Natural Rate O@hemployment
hypothesis. 4+6=10

Paper VI1: Mathematical M ethods for Economic Analysis-|
1. Given the utility functionu=2+x+2y+xy and the budget constraifik+6y=94,

find out the equilibrium purchase »fandy that will maximize the consumer’s

total utility. 10
2. Define game theory. Write down the main assumpti@hsracteristics and
limitations of game theory. 2+8=10

Paper VIII: Elementary Econometrics
1. What do you mean by coeffecient of determinatioh@vshow coefficient of

determination is derived from a simple linear regren model. 2+8=10
2. What is Multicollinearity? How can it be detecteWthat are the different

remedial measures that we have to adopt if mulinedrity exists in a

particular model? 2+4+4=10




